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IMPORTANTNOTES

@) <Y ammxer /B ey & U U Bl Brex 37T AHT WA BT ST s1erar 3ol # SR forar ST b § |
Except Hindi Grammar / Hindi Essay question paper, all other question papers can be written either in Hindi or
English language.

@) orfrafden @ o SR FuiRa wreal @) A 3 i =81 fora=r a1f2u | g9@T Soaiad B WR 3% &e
SIG | 31geff TSl & iR B ford | Tefl I R $uar 7 ford |
The Candidates should not write the answer beyond the prescribed limit of word; failing which, marks will be
deducted. Candidate should write answer within the given lines. Please do not write in the blank space.

(@) I e BT IR TR GRADT | FEiRd wre iR 81 ford | gearR gRAO®T (% BRIFS I8 Aied) & 3ia
Bl W7 UR QT IehHis o DIy ¥, Udl, IT 3T BIg Ygdl fos Afhd = v |

Please write answers only in the prescribed space of booklet: Do not make any mark of identity inside the booklet

(including rough paper page) like roll number, name, anyother name, address or such other mark.

(@) afe foedt oo # f5efl U 1 BIE JSoT A7 TATHD THR a1 Ffe 81 A U2 & & dorr 3iUoh wuiaRi #
9 2 wuiaR 9199 8117 |

If there is any short of ambiguity/ mistake ether of printing or of factual nature then out of Hindi and English

version of the question, the Hindi Version will be treated as standard.

faory fAder

SPECIALINSTRUCTION

(@) U TS H dF g U & o Siaiid B Al oY SN, g IR UG 4" SR SU—UeH g8 Y
2| < ST g H Sl faded Iy Y 2 | UAS IR & GHeT I YUl 3ifhd fhd g 2 |
There are three questions as very short type, short type and long type questions in this part, in which there are

sub questions in each question. There is internal choice in long type questions. The Maximum marks are printed
in front of each question.
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Ygs—31 (PART-A)
e 10 36 YT H 15 JMIAYSTNT SU U 2, UASD U BT IR AfHad 10 € 12 el 7 <1
21 9t ye sifard € 1 u@® w03 (i) @) &1 2 )

Q.1: This question contains 15 very short type sub question. Answer each question in maximum 10 to 12 words. All
questions are compulsory. Each question carries 03 (Three) marks. (15x3=45)

11 dgASAd I ¥ 0 T TR © 7
What do you understand by atmospheric pressure?
12 57 3IR 3 sl & /g e SR @ ¥ |
What is the main difference between audible and inaudible sounds.
13 GIoId & NERll & 07 ey |
Write properties of Magnetic Field Lines.
14 ORAIY] GoAdd 3R fIded & d9 g iR a7 2 |

What is the main difference between Nuclear Fusion and Fission.
15  Hifde IR e IRads # w7 FdR 8?
What is the difference between physical and chemical change?

16  IMIM® amad IR & A= SuanT w1 # |

What are the various uses of modern periodic table.

17 qfed SMER Ud SHGT A5 9T © 2
What is balanced diet and its importance?
18 DIRIGI B DI & B fRgY |
Write any two functions of cell.
19 g™ 3R Felivqd R Ush fewef) fofRgu |
Write a note on xylem and phloem.
110 GWR HYSR B Dls A ARy forfay |
Write any three characteristics of super computer.
111 WY Yo% WRPR & b=l d19 Hedyol 49 Usii & =14 forlay |
Write name of any three important web pages of Madhya Pradesh government.
112 SffoefeT Rived & oy o1 99 |
What do you understand by operating system.
113 <l GRIT BT HEH FHUAD 96 & AR ITbT THH FHUddD 1296 © | Al ITH Tob
AT 864 I, AT TN AT fhal &7

The greatest common factor of two numbers is 96 and their least common factor is 1296. If

one of them is 864, then what is the other number?

114 IS TP A9 10 B F gRT B1 9w & 100 fHH. =l U 8 IR a7 & faeg 15 @ #H 75
frd. Terch 8, ar aRT @ T fhaHr 87

If aboat can travel 100 km downstream in 10 hours and 75 km upstream in 15 hours, what is

the speed of the stream?
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Q.2:

21
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25

26

27

28

29

Ife Bl geRIRT OR 4 U arfies &% WR 2 a9 & ARl @79 AR hgleg TSl Bl AR
% 20 BI, A 98 GARI fber 8rfT ?

If the difference between the simple interest and the compound interest on a sum of money for
2 years at 4% per annum is Rs 20, then what will be that sum?

3H U H 10 AYSTNT SU-UH &, TAS U BT IR AfTHad 50 € 60 &l # <1 2 |
aH ye fard € | ad® wee 05 (Uid) BT BT B |

This question contains 10 short type sub question. Answer each question in maximum 50 to 60 words. All
questions are compulsory. Each question carries 05 (Five) marks. (10x5 =50)

THETHY] I IR GATIT I DI AR DT TRATT BT |

Define the concept of gravitational force and Escape velocity.

TSI & TR AR fqaeT H IR T HIFY |
Differentiate between Reflection and Refraction of light.

oY # Tedl o FgRaT 1R e fewoft forRay |

Write a short note on abundance of elements in the Earth's crust.
pH A Sahddl IR Hfera feweft faRay |

Write a short note on pH Value Indicators.

Ry, Wwdl R SO9 G N IR U dferd femoft faRkau |

Write a short note on Health, Hygiene and its related diseases.
UEl, SIaRT 3R Al | gror g) wfere fewelt forfey |
Write a short note on Nutrition in plants, animal and human beings.

AR ASAT & FHRIAD IR ADRIHD Jegall R e oo foaRay |

Write a short note on positive and negative aspects of social media.
®Hg WHR & AR IUART dIcal o gl 9915¢ |

Make list of different useful portals of central government.

U ] 1 3ifhd Hed IHD ANTd Jed A 50 TN 3 2 | FaR 3ifdhd Jed # 20
gforerd gfg & iR fassa goa # +fr 20 ufererd gfg o= <7 R A AT & St 2
TEIAR AT ARMID 3ifdha Hed ® 300 & B, Al 3RS [dehd Joa b= or?

The marked price of an article is 50% more than its cost price. After increasing the marked
price by 20% and increasing the selling price by 20%, the profit doubles. Accordingly, if the

initial marked price had been Rs 300, then what was the initial selling price?
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210 UH &1 B T B H A BT B &I a1 3 10 3T & o1d 2| afc A q2 B IF1 fdaw
I8 B 12 T 9 )T B Fhd B, AT 37bel B BT 98 B DI GRT B H fdbel =T FHI R IT?

A takes 10 days less than B to complete a piece of work. If A and B together can complete the
work in 12 days, then how long will it take B alone to complete the work?

U3 3: 39 U H 05 TSI SU—UT 2, U U BT SN AHan 200 | 230 scl F ST 2 |
aH ye Afard € | u@d® U 11 (URE) BT BT B |

Q.3: This question contains 05 long sub question. Answer each question in maximum 200 to 230 words. All questions
are compulsory. Each question carries 11 (Eleven) marks. (11x5=55)

31 ST WIFTRYT S YRESHT BT FHEY | HT ARl fAfhror, Fag ik ara & A=
TRl TR AT == B |
Explain the phenomena of Heat transfer. Also discuss various modes of heat transfer radiation,
convection and conduction.

T

P GaP I DI AlhAT Bl fAdemT BIRTT | HEE g o A= o1 iR STl )
@ ==t BT |

Discuss the procedure of preparation of artificial magnet. Also discuss various properties and
uses of artificial magnet.

32 e Sfiae # A & SuIT R fawga el forey |
Write a detailed note on use of chemistry in daily life.
g7
3TIAIDROT IR AT BT TRATT DI | SRETIG DT ATUROT AR SHD! A3 Pl
A SV |
Define Ionization and dissociation. Also explain Arrhenius concept and its Limitation.
33 Sigell SR UMl & aifieNr iR Ue fdy forflay |
Write an essay on classification of Animals and Plants.
g7
A & IRR B I DI FRDAT AR HrRIYMEl WR U fawga fewoft foriey |
Write a detailed note on structure and functioning of Body organs of Human being.
34 HREX B Uifgdl R IAD! faeIvdren & arer o fAdy forfay |
Write an essay on generations of computers with its characteristics.
gT
IRA H —Ta-9 R fawga feweh forfay | $—wavie & fafr=t o wd s1f=ar i1 faRag |

Write detailed note on e-governance in India. Also write various advantage and disadvantage

of e-governance.
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35 fIder: @S aui # 5 YR (A 9 E d®) & fffd Racil & & @R #) @ 78
2| 1 IRl &7 rmae HIvTT 3R UeHl & SR <IfTY |
Directions : Given below are the numbers (in thousands) of 5 types of toys (A to E) manufac-
tured over a number of vears. Studv the following table and answer the questions.

ag / A B C D E
qFIT

2002 200 150 78 90 65
2003 150 180 100 105 70
2004 180 175 92 110 85
2005 195 160 120 125 75
2006 220 185 130 135 30

A ST T H B 9T C UBR & RaelHi oF IRTd STe Re (BIRT #) foha=r 3R &1?

What was the difference in the average production number (in thousands) of B and C type

toys in all the above categories?
B 9l UBR & Rl & I H 99 2005 W 2006 T AT fber=T Uferera &1 Ifg g8°?

What was the approximate percentage increase in the production of all types of toys from the
year 2005 to 2006?

C  99¥ 2002 ¥ 2004 dF A UBR & RIci-i & I # fha= ufderd @ w41 mi?

By what percent did the production of A type toys decrease from the year 2002 to 2004?
D ¥ 2003 9§ 2005 A% D UHR & RIc & Icdred | faw ufaerd a1 gfg gg?

What was the percentage increase in the production of D type toys from 2003 to 2005?
g1

fder - v gBRM HEe @ B i (B1, B2, B3, B4, B5, B6) ¥ 991 g Y¥dD| @
T (BOTRI #H) i <) T8 ® | 39 UTh &I SEgIT b -1 AU T Ul & SR gfofi—
Direction : Given below are the number of books (in thousands) sold from six branches (B1,

B2, B3, B4, BS5, B6) of a publishing company. Study the graph and answer the questions
given below-

90
80
70
60
50
40
30
20
10

0

Ofesfi gari #

Bl B2 B3 B4 B5 B6
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A 9 e fhae 8 R gl o [, oia [ 9 &9 87?
How many branches are there in which the sale of books is less than the average sale?

B M B2 W1 ¥ Yol Bl 9T H 30 Ufrerd gl 81 SV 3R B4 wrRam &1 fdsh! 7 10 wfrra
HUT T U, A7 I ©: Erell &1 Mg Qb § T RT fhd=m uRade 3 SIRFT ?

If the sale of books from branch B2 increases by 30% and that of branch B4 decreases by

10%, then what will be the approximate change in the average sale of all the six branches?

C I g% orRam H Y&dopl @l {9l # 2 ufierd &1 gfg 81 MY, df TR HFAl &l JRiah!
B B [T (BRI H) fhar 8 SIg?

If the sale of books in each branch is increased by 2%, then what will be the total sale (in
thousands) of books of the publishing company?

D I N & Rl B A9 9 A 59 TBR dic A1 S 6 /e 9 bl g e a9 Bl
AT UhHAT Bl SIY, 1 fell vt faRIy H S9! Sl FaRT eMarsli gRT Y&id] a el
BT IR (BRI H) HA—T—HH a1 I8 SIre?

If all the six branches are divided into three categories in such a way that the book selling

capacity of each category becomes equal, then the difference (in thousands) of books sold by
its two member branches in a particular category is at least How much will be left?
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